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Section A
True/False/Uncertain. Give short explanation with your answers.
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Indicate whether each of the following statements is true, false, or uncertain, and explain your answer, using appropriate theoretical models.
1:
The obvious option to increase tax revenues from wage income is to raise the tax rates on wages.

2:
Under natural monopoly the only option for the government to avoid loses is to apply average cost pricing.

3:
Tax authorities decided to increase the number of auditors. This would lead to reduction in tax evasion, other things being equal.

4:
In the life cycle model with two periods, if the individual is a net lender and there is a decrease in the interest rates then his current consumption will definitely increase.

5:
Introduction of pension plan in the life cycle model of two periods would reduce savings if consumption is a normal good.

Section B
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6:

Assume that there are two goods (X) and  (Y). A representative consumer has preferences that take the form
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Calculate the equivalent variation and the excess burden of the subsidy. 
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7:
Set up leisure income optimization problem without any non-wage income (i.e. maximizing U=(Y, L ) subject to Y = w( T-L), where Y is net income, T is maximum number of hours available, L is number of leisure hours and w is the wage rate). Using diagram, show that the effect of wage taxes on labor supply is ambiguous.    Now introduce non-wage income, I, in the optimization problem. Would there be more supply of working hours or less. What assumption do you need to analyze the behavior of the worker in this case?  Explain both cases using diagrams (with and without non-wage income), and carefully identifying the intercepts on both axis and the slope of the budget line.
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Continued at the back of the page//..

8:
In an inter-temporal choice type model with two periods, utility function of an individual is specified as follows:



U=Coa C11-a
where  Ct  is consumption over time. Suppose income in period o and 1 is Yo and Y1 and r is the interest rate and there is no tax on interest income.

a:
Write down the budget constraint and set up the optimization problem. What is the price of Co?

b:
Derive the consumption demand for the two periods.

c:
Suppose a=0.1, show that Co and  C1  are normal good. What do these results suggest about the nature of substitution and income effects when the individual is a net borrower?

d:
If Yo = Y1 = Y and r = 0.5 (i.e. 50%), what has to be the restriction on the value of  'a' such that the individual becomes a net  lender.
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